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Initial Key

SECTION—A
Analytical Ability
gs'_éi’a.é a%foggé
Questions : 75 Marks : 75
BHee ¢ 75 Sredyen ¢ 78
(i) Data Sufficiency (Marks : 20)

Eavod SoogRd
Note :— In questions numbered 1 to 20, a question is followed by dala in the form of two
statements labelled as I and II. You must decide whether the data given in the statements

are sufficient to answer the questions. Using the data make an appropriate choice
{ q g pprop

from (1) to (4) as per the following guidelines :
(a) Mark choice (1) if the statement I alone is sufficient to answer the question;
(b) Mark choice (2) if the statement Il alone is sufficient to answer the question;

(c) Mark choice (3) if both the statements I and II are sufficient to answer the question

but neither statement alone is not sufficient;

(d) Mark choice (4) if both the statements I and II together are not sufficient to answer
the questions and additional data is required.

BRSS — 1 08 20 S8H eI ($8 |FHNTTH ¥ (5%, ol $oS L M ed e
Ko Bo (FSWaren S&ToForT HIEIE 0. FINS Sgroed) wSdeHow gu®
BT Trer (HINH SSwEGTTTR) 8T)0SK Horgamer @) e oy
Sor @30 b P00, ¥ ITInE Bob SrEERY Grgrer ai@rAoD
(1) $08 (4) S6% $6 wond sarmd H0dE Bavod :

() (SHHD SSrordo gid)oddh |ESWIo | S| B Sorggons D exacew
(1) o= ook,

(b) ©$HE SSeprdo G oK ($SwSSo 11 &Soo (5D aﬁwg{gﬁ:w?ﬁ A esaeew
(2) o° 8oWodk.

(€) SRS Segrdo B 0E (SSForen [ 11 §O0 Soegghahon ©oHET D
e & Srae Sorgsgo wEREE D marw (3) o Mool

(@) SRS SErmEe aihomk (SESow 150D Srar Swgso 8 o055
Sero¥o wISYSHond b marw (4) ™ KHfowod.

1. Whatis AN B ?(4)
ANB W ?
0 A={3,4,5} () Bz=A={1,2}

3 (P.T.0.)
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2. What is the quadratic equation ? (4)
(I} The coefficient of x%is 1
ST HwES DO ?
(D) x* THoE), Hegdn 1

3. Isthequadrilateral ABCD cyclic 7 (2)
Sy ABCD $(80%do 2
() AC=BD

4. Whatisthe equation of the straight line ? (4)
(I) It passes through (1, 1)
(I) Its perpendicular distance from the originis 1
HES T DLESHn 28 2
O & ((,1)wgo FFetood.

(I) Horedodhd) PHod &°d wow HBrdswn 1.

5. What is the sum of the real numbers a,b,c? (3)
I) atc=4

oD Domgw a, b,co Swéod ?
Iy a+c=4

6. Isndivisibleby 1207 (1)
(I) nisthe product of ecutive integers.

(I) nisdivisible by 6 and 20.

120 3¢ n grhodadidoon ?

() 5 &80 Hrgroste opow n

AD) 6 %005 200 B n erhodusd

(I Both of'its roots are real

(1) @0 Both TFerw) TPRD LOVFLD

(I) | BAD +|BCD =180°

(II) a, b, carein arithmetic pro gression

(I) a,b,cen wo¥ Lﬁéé% € °) 00

= What are the values of the real numbers a, b, ¢ in f(x) = ax?+bx+c? (3)

f(x) = ax* +bx +¢&® a,b,c o Deoden Jo& ?

(O f(1)=0 I f1+1)=0

Ifa,+a +a, ... +310:Sanda0:3,whatisS?(1)

ayta ta, .. +alO:S,aO=3&9oaa?éScDoé§1 .

I a :5a4,n=1,2,...,10 (1D an>0,n:1,2,...,10

L]
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9. Ifxandy are non-zero real numbers, is x >y ? (1)

X,y o0 drSgdd a0 Dopg BN, x>y wHdom ?

I 1 ‘
0 <Xy>[;—ﬂ=0 I (x=52=(y-5)’

10.  What is the minimum value of the real number y ’?( 1)
ST Dowg y sy, gD dend Jod ?
M 2y <y +y I y<o

11.  How many degrees is the angle x ? (3)
Sodw x ) &|fies ?

O y=120° | () z=87°

12. If b, c are positive integers, is b + ¢, a prime number ?(2)

(D band careodd () c=5b
b,c o0 &3 Qrores sy, b+c wyreg Dowg eHdose ?
(D b,c oo B Dopgen () c=5b

13. Each student in a hostel speak Telugu or Kannada or both. What is the number of students who can

speak Telugu only 7 (3)

(I)  The total number of students in the hostel is 500 and the number of students who can speak both
Telugu and Kannada is 156.

(I) The number of students who can speak Kannada only is 124.

28 D08 rﬁe)‘érésaé's{i) Dmg%ﬁow, Seufhsd, 51850, €t Bok PR es R Srérdoaed.

Soolh JrED Srerw dorgho bopg Jod 2

) 558 Hyios™ dargde doag 500, 208 e, €5 18w ToBodR $rerd
Dwggau Kjospg 156.

() 5880 Sr|dc Sreed dargdoe Dopg 124.

5 (P.T.0.)
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14. Is x the largest among the positive real numbers x, y and z7(1)
&S THH Dopgen X, y,zod" X #0Rdr ?

O x-y>|z| () x+z>2]y]
15. How many of A, B, C and D got selected into hockey team ?( 4)
() The statement ‘Atleast one of A and B got selected into m’ is true.

(I) The statement ‘C and D are selected into the team’ is false.
A, B,C,Dod® Jodd 5568 a%;ocﬁ@ Qo%aéfﬁoﬁ)wg"do ?
) ‘A,Bod® §d%0 a¥kh 2’8 o Bokhaged’ o (HdHdo dégo.
(I) ‘C,Den 2&rS’'8 dons Sohagd oI (HHIle wddgo.
16. Isthetriangle ABC right angled ? (3)
|Bghedor ABC powf’n (Bhwudr ?

2
M [A=2[B @ [B=3&

17. Fourcircles of equal radii are inscribed in a square touching each other. What is the area covered by the
four circles 7 (1)
(I} The Perimeter of the square is 32 c.m.
(II) The ratio of the sum of the areas of the four circles to that of the square is 7w : 4.

Hdrd argrgo o Frentd Syeeen, @l J&HGP0ST wE FES D007 wo&sb
OPSHoonToow. &8 Teoth dHyETw B8 eHdodadd ITogod ?

(D) $So8Po WS od 32 200.50.
() sreoth SHyEre ST Bodo, WSS FTrogiwe VR N8 n::‘4.
18. Ifx,y,z are distinct integers, is (x—y)* > 0 ? (1)
X, ¥, Z @0 293) ng"g“OS‘@zé (xA-y)Z>O eRyeom ?
() z=2x am y>x
19. What is the cost of painting a room which is of the form ofacube ?(4)
(I) The base area of theroom is 144 sq. ft.
(I) Theroom has one door of size 6' x 4' and has no windows.
rsdod® ad) o8 168 Jg Fohmds i) Jod widod ?
@) %8 FrITegdn 144 S.e.
() K68 6 x4 Hddreo Ho af S GO, 520 888 VY.

20. Ifa, b, c are positive integers, is the product abc even ? (2)
() a+b+cisodd (I) a+cisodd
a,b,cen éé‘@“gov@é, @agéaa abc DOVowg e ?

() a+tb+cBD doyg () a+c@d dowg
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(ii) Problem Solving (Marks : 55)
553;3‘5 oplat]
(a) Sequence and Series (Marks : 25)
Note :—In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow

a definite pattern is given. Each question has a blank space. This has to be filled by the
correct answer from the four given options to complete the sequence without breaking
the pattern.

Boe S 1— 21 $08 35 SUK Sowh Ko ($8 FHET S adnd Sowgw ™ vfTrew
™R af (FHogsond Dovsrdy FERTH N ($8 |FHETSr b EULAY
s ey PN T %08 8 Lond sarard JEETY B ES JovsrIE
&oXo s’e{gaﬁom Sredowed,

21. 6,27,128, ........ 3130
(1) 209 (2) 369 \tJ629 @) 1031
22. 7,19,37,61, ..., 127
v 9l ) 101 3) 111 @) 121
23. 99,9999, 999999, ... , 9999999999
(1) 9999999 %99999999 (3) 999999999  (4) 99999999999
RERE 63 1023
T 47167 64771024 |
LY 255 ! T
M 123 ) 356 ) 5 @ 75
25. 3,-1,5,-7, s =31 (N0 Answer)
1 9 @) 11 3) 15 @ 17
26. DFL EGJ,FHK, ........, HIM
(1) GIM GIL (3) HIN 4) HIM
27. 4+13, 94410, ......., 25+ /4
(1) 14447 ) 15+47 Z{) 16++/7 4 19447
28. A9Z,B7Y,C5X, ..., E1V
(1) D2w (2) D4w (3) D3U (4) D3W
29, 8:81::6:.....
(1) 25 Q) 36 ?{) 49 @) 64

(P.T.0.)



 Download From NSRRI PEETEEN

30. 99:120::.........:63
v s @ 4 (3) 36 4) 24
31, 22:2222::222 00
(1) 22222 (2) 2222 (?{ 222222 (4) 2222222

32. LFHW,KEGV,JDFU,........,

(1) ITCE %) ICET (3) IECT @) ETCI
33. 11,101, 1001, ... , 100001, 1000001

(1) 1001 \qg 10001 ~(3) 10000001 @) 100000001
34, 2,3,5,7,11,13, ... .19,23

(1) 14 2) 15 3) 16 @/17
35. T,W,Z,C, o I

(1) D 2) E t{ F @) H

Note :— In questions 36 to 45 pick the odd thing out.

Crusdf i— 36 D08 45 UK Ko (@R est 8 SPedd Mmbosod.

36. (1) 57 ~ 67 @ 77 4) 87

37. (1) 25 @) 49 T() 64 @ 81

38, h/:so | @ 12 3) 20 @ 8

39. (1) 10 @ 28 @) 244
40. (1) 001 t{'@‘om | (3) 0:0001 @) 0:000001
41. () G @ HI (3) KL CKOQ
2. (1) Az @ CX Y Dv @ FU
43. (1) BAT (2) CAT (3) RAT & Mar
44, (1) 15 @ 77 (3'/117 @ 221

45. (1) 289 @ 361 @) 529 (Z{ 441
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(b) Data Analysis (Marks : 10)
Note :— Study the following table and pie chart and answer questions 46 to 50.

JeiSS i— (8080 SEED, %’ Serdy @’gﬁrﬁ 0D 46 Jo0d 50 $SHife (B o DerErTre

[opdovslol~}
Number of Students in the School
FEToSd Jorghe Sowg
@
Percentage of studenis Division of students into three groups
Qa@sgﬁw F*S0 Sarcky Qdermrenr :Davgga@ Defad
i Percentage of Out of which
Level total students Hees® 7 Hﬁ\\\
Jeow &0 Boys Girls
&)aug%ﬁa@ S0 VIPYDWD | T D C .
Primary 30% 40% 60% 8% 40%
(W E0E
Middie 40% 60% 40%
B
B ggas . 30%
High 30% 55% 45%
i’ |
Note :  The above percentages are applicable Note : Each student belongs
for all groups. The total number of to exactly one group
students in the school is 5000. Brd 1 (98 dargd a8k
HrSs 1 TErer ) e HOTow. Derifos® Gordd

FETost Dergdho Howg 5000.

46. Whatis the number of girls belonging to group A in the High School ?
FETos® Dgrdo ASt ¢b) edrjone Dopg ?

Tr(zm 2) 380 (3) 460 4) 480

47. What is the total number of girl students in the middle school ?
B esgads FETod® Ko wdr) owe Sowg ?

(1) 860 2) 1000 3) 800 4) 940
48. What is the difference between the number of students belonging to group A and group B?
Derddn A, Derddn Bod® ¢d) dorgde Hopge BEIN?
?4 500

(1) 400 (2) 450 (3) 350
‘ 0 (P.T.O))
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49. What is the percentage excess of the number of boys in the primary school to those in the middle

school ?

(P EWE FET0S® waryone DopgEld) WrEghE FETOS varyonw Dopg W)
Al PN

1) 85% (})/100% 3) 90% 4) 80%

50. Whichnumber of the following is the highest ?
(1) Boysin the highschool (2) . Girlsinthe primary school
(3) Girls in the middle school ) Boys in the middle school

Bod ‘éospg@eﬁ% 20 K0%0 ?
(1) &8 JET S W2T"YONO DOPY (2) |Ba08 TSR AT OV Lowg
(3) SorEgao¥ FEToSD 577y 00O Ddowg (4) éj‘ég&bé FETOS ©°)0RO DOYS

Note :—Study the following pie chart and answer the questions 5110 55.
oS i— (Bob B Herdy WD (2¥)e0 51 H0d 5508 azwdigod.

Expenditure Pattern of Mr. Jaideep

Monthly salary of Mr. Jaideep is Rs. 24,000 in 2006
BOD o 2y

2006% HossyBod” BOD To @0 & 24,000

Income Tax
wordh®) Do)
30%
12%

Transport
Sareae

51. What is the ratio of the amount meant for others to that of food ?
adorod SErowoDd FdnY, w008 Beronond FHvyo dD S
v 715 2) 17:30 3) 15:7 @) 3:4

52. Whatis the amount of rent paid by Mr. Jaideep per month ?
ZOD (98 Jo BO0T ©B

(1) Rs.7500 ) Rs. 8000 (3) Rs. 8500 (4) Rs.9000 ‘
10 '
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53. Whatis the angle made by the sector representing the transport expenditure ?
Sarere pdoydo Wwrded H)d b F §wo
(1) 41-8° (2) 42:2° ‘Q{ 43-2° (4)  38-6°

54. IfMr. Jaideep’s salary increases by 10% and income tax also increases by 10% over its existing rate,
then what will be his new savings, given that all other components have the same percentage as in 2006.
BOD J0d0 Eddn 10% DOH, ©sd vorahd) D0y Erae ad 8 T 10% 20AS,
odd 388 piyo Tered® 2006 Zrddm VLo S BHoW, wsd §°¢ oD dod ?

(1) Rs.1940 (2) Rs.2080 (3) Rs.2240 v ke 1sas

55, Mr. Jaideep could not go to work for six days in June 2006 due to ill health and it was a loss of pay
during that period. At the end of that month, what was his net salary after payment of income tax ?

20D @@16*4’15 oy a~d 20068° 6 daren HI8 3%5@@55 FFowSobe, &
BT 0% 98l £80 TOoDLwEdBH. v Jv VHOS® wéd YO AhR) DY) T @d8

SWYS Eebdo.
(1) Rs. 14,800 | \(2{ Rs. 13,440 (3) Rs.12,880 (4) Rs. 13,220
(¢) Coding and Decoding Problems : (Marks : 10)

Note : for qﬁestions 56 to 65 .
56 o0& 65 H5% (P o

In a code an English word of n letters is coded as follows :
4 n
(1) Ifnis even, each of the first 5 letters of the word are shifted forward by 3 places, the last

: % letters are shifted backward by 3 places.

n-1
(i) Ifnisodd, each of the first BN letters of the word are shifted forward by 3 places, the

-1
last %""- letters are shifted backward by 3 places and the middle letter is fixed. For example

POISON is coded as SRLPLK and EMCET is coded as HPCBQ.

Decoding is the inverse process of this coding. Using this coding and decoding processes answer
the questions 56 to 65.

28 86 0 e® n wEore wof vEo, 808 o §6 Dohwdos
n
2
wioren Hardo ‘g*’ar’m F9E) =ddaderon.

n - (PT.0)

@) ndOvowg wod HBSTY DwsG — v orwr Kard T 0o, DO

n
2
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- 56.

57.

58.

59.

60.

61.

62.

63.

() nBD dowg wond, HEos® Bwse

n—1

WSO

2

wForey DIy RO H 0 EBIE,

@é@w'ﬁéé& Hogedhy T zddwdozron. Ny wEdo Yo

G otnod. BoiEns POISONS: SRLPLK® EMCETS HPCBQ® §& B0
45°80f 28 & SPGoR DLBS DSt Sodw. & §°8oh, B5°&0R HFE0LO00D

(Bdye0 56 %008 650% marew Ogod.

The code word for BANARAS is
BANARAS & §°& H8dw
(1) EDQDOXP (2) EDQAMXP

The code word for POTATO is
POTATO % §°& H&dw

tr{ SRWXQL

The code word for LOUSY is
LOUSY &% §*°& Hd»
(1) ORUQV

(2) SRXXQL

(2) ORXPY

The code word for CHIMNEY is
CHIMNEY % §*& &%

(1) ‘FKLPKBV Y FKLMKBV

The code word for TEMPLE is
TEMPLE & §°& H&%»

(1) WHPPIB (2) WHPMIC

Which word is coded as LAZY ?
LAZY e o Hdo §°& Johadod ?

N/ XCB (2) OACB
Which word is coded as MAXIMA ?

MAXIMA ™ o $&o §°& T[ohadod ?

(1) JXUMPD (2) LXUMPD

Which word is coded as HOUSE ?
HOUSE ™ o »do §°& Wohwdod ?

(1) ELXUH 7{2{ ELUVH

o

3)

&)

)
)

()

EDQAOXP

SRWYQL

ORRPV

FKLMLBYV

WHPMIB

E‘S(JXULPD

©)

ELUUH

(4) EDQAMWP

(4) SRXXWL

(\)/ ORUPV

(4) FKLPKBV
(z( WHPMIB
(4) IXCA

(4) JXVLPD

(4) ELXVH
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64.

65.

d

66.

67.

68.

Which word is coded as ZENITH ?
ZENITH tr O %80 56 Schndod 7

(1) WAKLWK 2) WALLWK (3) WBKKWK (E(WBKLWK

Which word is coded as CURIQUS ?
CURIOUS = & %80 586 Sohwdos ?

(1) ZROLRXYV (2) ZRPIRXV E)/ZROIRXV (4) ZRPLRXV

Date, Time & Arrangement Problems : (Marks : 10)

Four persons A, B, C and D are sitting around a square table and discussing their trades. A sits opposite
to the Carpenter and B sits right to the Electrician. The Painter is on the left of Mason and D sits
opposite to C. What are the trades of C and D ?

(1) Electrician and Mason (2) Painter and Mason

(3) Painter and Carpenter Painter and Electrician

S K)?Sé;w AB.C.D e 2% 2L zﬁagm é.PS"Qé'Q boila) éq)e‘iwzéa oo ﬁ&ooéaé)oénmld).
DBONE QK A& T . Dgd DA §>&9 (5,5 B Srdyaeyd. Sohe Dl
D DT Do ESERRS Gy, C 8 &)@ﬁodom[)éjﬂdagél, C. Do Sydoen.

(1) De5ogd dAach, & Bk (@) Boiben Ihardo, o0 BT

(3) SoXoew Ik, S(goh (4) JoXen Thard, DegE DATG

B is twice as old as A, but twice younger than F. C is half the age of A but is twice older than D.
Who are the oldest and youngest ?

B,Aéml Codd T DI, 500 Fém;,w God Tew WSyard. C 55033:(33& Aéoﬁo“@agéﬁ
“io, 520 D ey Bodk Ot Dardy. 8¢t VosOET) DEa, DB e

(1) FC (2) B,D ED 4) FA

Two circles C,and C, are such that a square § is inscribed inC ;»and C, isinscribed in S. Then the ratio
of the areas ofCI and C2 is

CpCyoo Symoam, C| 6 a8 SH850 § wosh OPED, SS* C, woss OPEH, C
C o STerge DRy

1) 2 :1 62(2:1 3) 2:42 4) 3:2

13 - | (P.T.0.)
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69.

70.

71.

72.

73.

74.

75.

A square sheet of paper is cut along the diagonal into two equal triangles. What is the minimum number
of pieces into which one of the two triangies shall have to be cut so that these pieces together with the
other triangle could be arranged as arectangle ?

FEHEFEE0 D) a8 ShETR), @ D8I Dochore 880D Tod DHrd (Bgherwom
Bobhwdaron, D8 of [Bgherd), Ehom ) SofH e 800w, ¢ D08 00,
Todd |Bhuos® ad 0D ¥ bF IHIPom Dby ?

v @ 3 3) 4 @ 5

If fourth day after January 6 is a saturday, which day of the week was on December 1 of the previous
year 7 (No Answer)

(1) Saturday (2) Fnday (3) Sunday (4) Thursday
2550 65 Bb Shard wreol e $DTE0 wand, B0 BodIyBo dToad 13 B,
T80 @ Be H0d 7 |

(1) #2a8o 2) HErdo (3) wo8o @) HoSo

The angle between the hands of a clock when the time shown is 12 minutes past 5 0’ clock is
H0ckho 5 Kobe 12 JarBHd i HBASrey) S HEg 80
(1y 78° ' (2) 80° 84° 4y 86°

In a village %th of the youth are educated and lgth of the youth are employed. If the number of
unemployed youth is 128, how many educated youth are there in that village ?

af [P0’ cndHodt + $od dorgdode, + Sod algHiyen. (m300S™
&g dswdo Lowg 128 wond, o [PHos™D dargdosoond e Dowg

(1) 50 2 55 (3) 65 40

asb=a’+b’—2ab=((a*xa)* (b*b)*(c*c)=7?

‘(\V,/O 2 1 3 2 4 at+b+tc
IfN is the set of positive integers, then {n eN||n-2|<3}=

N & rgros TOQJE%ED;\;}DE, {neN||n-2|<3}=

(1) {1,2,3,4,5} Yy {1,2,3,4} (3) {2,3,4,5} @ {2,3}

Twenty years back, the ratio of the ages of a father and his son was 11 : 3. If the ratio of their present
agesis?2: 1, then the age of thesonis:

20 bosd oo (880 o, Fhbe dahdoye JRy8 11 : 3. &0 598 Hobd)o
DENE 2 1 wond, 5 Habdoy !
(1) 30 @) 35 (3) 34 (}/32




